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Instructions to Pupils:

Do not open this booklet until you are told to do so.
This paper consists of 3 parts: Sections A, B and C.
Follow all instructions carefully.

ANSWER ALL THE QUESTIONS.

Check all answers carefully.
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* This paper consists of 9 printed pages altogether (including cover page).



Section A (5 X 2 marks)

For questions 1 to 5, four options are given. One of them is the correct answer.
Make your choice and write its number 1, 2, 3 or 4 in the brackets provided.

Each question carries 2 marks.

-—

What is the value of the digit 2 in 7 2037
(1) 20 (2) 2

(3) 200 (4) 2 000

In 4 389, which digit is in the tens place?
(18 (2)9

(3)3 (4) 4

What is the difference between 3 814 and 7217
(1) 3 093 (2) 3113

(3) 3193 (4) 4 535

On Saturday, 2 490 people went to a funfair.
On Sunday, 3 852 people went to the funfair.

What is the total number of people who went to the funfair over the weekend?

(1) 1362 (2) 5242

(3) 5 342 (4) 6 342

What is the value of 6 x 67
(1) 6 (2) 12

(3) 36 (4) 66



Section B (4 X 1 mark, 5 X 2 marks)

For questions 6 to 14, show your working clearly in the space below each question
and write your answer in the answer boxes provided.

Give your answers in the units stated.

Questions 6 to 9 carry 1 mark each, while questions 10 to 14 carry 2 marks each.

6. Write nine thousand and sixty-one in numerals.
i & You are given four number cards.
1.

1_1_ 6 2 5

Use these cards to form the greatest 4-digit number.
Use each card only once.

Arrange the following numbers in order. Begin with the smallest.

oo (s s s

Smallest




9. Write a multiplication equation for the diagram below.

10. What is the missing number in the table below?

Number of tyres

Number of F1 cars | 1 2 i 3 9 ‘I
N l

tyres

11.  Meiling read 7 storybooks last year.
Hasan read 8 times as many books as Meiling.

How many books did Hasan read?

books




12.  Whatis the sum of 5 146 and 1 9787

13.  Complete the number pattern below.

P

2178 2188

14.  The difference between two numbers is 174,
The greater number is 1 187.

What is the smaller number?




Section C {4 X 4 marks)

Read the following questions carefully. Show your workings and write your answer
clearly at the spaces provided at the end of each question.,

15.  There are 342 girls in the schoof hall. Workin

There are 179 more girls than boys in the school hall.
How many children are there altogether?

Answer:




16, At a factory, 3 690 computers were produced in October.
1 345 more computers were produced in November than October. Working
How many computers were produced in the 2 months?

Answer;




17.

Jane has 7 erasers.
Alan has 4 times as many erasers as Jane.

a) How many erasers does Alan have?

b) How many more erasers Alan has than Jane?

Answer:

b)

Working



18.

Mr Tan bought 7 boxes of oranges.

There were 6 oranges in each box.

His neighbour gave him 9 more oranges.
How many oranges did he have in the end?

Answer:

|

- End of Paper -

Workin
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6)9061 7)6521 8)4902, 4209, 4290, 4902

9)6x 3 = 18 10)9 x 14 = 36 11)8 x 7 = 56
12)5146 + 1978 = 7124
13)2188 — 2178 = 10

2218 - 10 = 2208
14)1187 - 174 = 1013
15)Boys = 342 — 179 = 163

Total = 342 + 163 = 505

There were 505 children altogether.
16)November = 3690 + 1345 = 5035

Total = 5035 + 3690 = 8725

There were 8725 computers altogether.
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17)a)4d x7 =28
Alan has 28 erasers.
b)3x7=21
He has 21 more erasers than Jane
18)at first=7x6=42
Now =42 +9 =51

He has 51 oranges in the end.
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